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PART - A
(Test of Reasoning, Arithmetic, General Awareness etc.)

1. The motion for removal of Chief Justice of India can be moved in

(a) Lok Sabha (b) Rajya Sabha

(c) Either (a) or (b) (d) Neither (a) nor (b)
2. Study of Liver is known as

(a)  Cardiology (b) Hepatology

(c) Ophthalmology (d) Gastroenterology

3. Which animal is represented as the official mascot for the 2018 FIFA World Cup?
(a) Wolf (b) Tiger
(c) Cheetah (d) Panda

4. Which of the following is not associated with UNQ?

(a ILO (b) WHO
(c) ASEAN (d) All of the above
5. Who made the remark “The preamble is the horoscope of our sovereign democratic
republic”?
(a) Indira Gandhi (b) Jawaharlal Nehru
(c) Granville Austin (d) K.M. Munshi
6. B.C. Roy Award is given in the field of
(a) Medicine (b) Music
(c) Journalism (d) Environment
7 ‘GolGhar’ a beehive shaped structure built in 1786 to store grains for the British Army is
located in
(a) Bhopal (b) Patna
(c) Varanasi (d) Lucknow
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10.

11.

12.

13.

Which of the following European countries is known as the ‘Land of a thousand lakes™
(a) Norway (b) Sweden
(c) Finland (d) Estonia

Consider the following statements:

(1) Transparency International is a non-Governmental organisation that monitors and
publicizes corporate and political corruption.

(2) Its headquarters is located in Paris.

Which of the statements given above is/are correct?
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

Sonu and his friend Rahul went for shopping. Sonu had Rs. 500 with him and Rahul had
Rs. 240. Sonu spent twice as much as Rahul on shopping. Now Sonu has three times as
much money as is left with Rahul. How much money did Sonu spend?

(a) Rs.60 (b) Rs. 440
(c) Rs. 120 (d) Rs. 220

From the given alternatives select the word which cannot be formed using the letters of the
given word JURISPRUDENCE

(a) Prince (b) Prune
(c) President (d) Prejudice

If ‘+’ stands for division; ‘%’ stands for addition; ‘- stands for multiplication; =’ stands for
subtraction; then which of the following equations is correct?

(a) 33x4-5+6+2=26 (b) 33+4x5+6-2=30
(© 33-4+5+6x2=24 (d 33-4+5x6-2=130

Pankaj bought a bag with 20% discount on the original price. He got a profit of Rs. 50 by
selling it at a price of 150% of the price at which he bought. What was the original price of
the bag?

(a) Rs. 125 (b) Rs. 150
(c) Rs. 175 (d) Rs. 200
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14.

15.

16.

1%,

18.

19,

How many numbers are there, that are completely divisible by 7, between 100 and 2057
(@ 15 (b) 13
(c) 14 d 12

Which football team has won the 7224 edition of Santosh Trophy Football Tournament 2018?
(a) Services (b) West Bengal
(c) Kerala (d) Hyderabad

The Nimoo Bazgo Power Project (NBPP) is located in which state?
(@) Himachal Pradesh (b) Jammu & Kashmir
() Punjab (d) Uttar Pradesh

The average weight of 8 men in a boat is increased by 1 kg when one man who weighs 60 kg
is replaced by a new man. What is the weight of the new man?

(a) 68kg (b) 67kg
(c) 66kg (d) 65kg

Distance between two stations A and B is 778 kms. Hari Mohan covers the journey from
A to B at 84 km per hour and returns back to A with a uniform speed of 56 km per hour?
Find his average speed during the whole journey.

(a) 67 (b) 67.20
(¢ 68 . (d) 68.20

Two Pipes A and B can fill the tank in 30 hours and 45 hours respectively. If both the Pipes
are opened simultaneously, how much time will be taken to fill the tank?

(a) 16 hours (b) 18 hours
(c) 17 hours (d) 19 hours
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20.

21.

22.

24.

25.

‘A’ can complete the work in 12 days while ‘B’ can complete it in 15 days. They start the
work together but ‘A’ left it after 4 days. In how many days the work will be completed?

(a) 5 days (b) 10 days
(c) 7 days (d) 8days

In a certain code language ‘851’ means ‘good sweet fruit’ and ‘783’ means ‘good red rose’
and ‘341’ means ‘rose and fruit’. Which of the following digits stands for ‘sweet’ in that
language?

(a) 8 ) 5

© 1 (d 3

The Prime Minister of India cannot participate in voting on a No-confidence motion against
his / her government if he / she

(a) leads a coalition government (b) has minority in Rajya Sabha
(c) is a member of Rajya Sabha (d) forbidden by speaker of Lok Sabha

Who among the following was the Chairperson of the Provincial Constitution Committee of
the Constituent Assembly?

(a) Jawaharlal Nehru (b) Sardar Vallabhbhai Patel
(c) Dr. B.R. Ambedkar (d) J.B. Kripalani
VVPAT stands for

(a)  Voter Verifiable Paper Audit Transparency
(b)  Voter Verifiable Paper Authorised Trail
(c) Voter Verifiable Paper Audit Trail

(d)  Voter Verifiable Paper Authorised Transparency

Two companies Hindustan & Co. and Bharath & Co. quote for a tender. On the tender
opening day, Hindustan & Co. realizes that the two quotes are in the ratio of 7 : 4 and hence
decreases its price during negotiation to make it Rs. 1 Lakh lower than Bharath’s quoted
price, Bharath & Co. then realizes that the final quotes of the two were in the ratio 3 : 4. By
how much did Hindustan & Co. decrease its price in the order to win the bid?

(a) Rs. 7 Lakhs (b) Rs. 2 Lakhs
(c) Rs. 9 Lakhs (d) Rs. b5 Lakhs
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26.

217.

28.

29.

30.

Nikhil started a business investing Rs. 42,000. After 4 months, Neeraj joined him with a
capital of Rs. 57,000. At the end of the year, the total profit was Rs. 26,000. What is the
difference between the share of profit of Nikhil and Neeraj?

(a) Rs. 1,200 (b) Rs. 1,400
(c) Rs. 1,600 (d) None of these

A water tap can fill an empty tank in 12 hours and a leakage can empty the whole tank in
20 hours. If the water tap and the leakage are working simultaneously, how long will it take
to fill the whole tank?

(a) 25 hours (b) 40 hours
(c) 30 hours (d) 35 hours

Directions: (Questions 28-30). Answer the que'stions on the basis of the following
table :

Assume all colleges sent equal number of candidates in all subjects for the examination.

Percentage of Results for Subjects

College Maths | Physics | Chemistry | Zoology | Botany
Stella Mary’s 52 65 62 47 40
Queen Mary’s 47 62 52 35 38
All Saint’s 53 70 46 54 39
Theresa’s 35 72 58 62 57

Taking all the colleges into account, which subject has shown the higher percentage result?
(a) Chemistry (b) Maths
(c) Zoology (d) Physics

Taking the performance in all the subjects into account which college has shown the highest
level of percentage results?

(a) Theresa’s : (b) Stella Mary’s
(c) Queen Mary’s (d) All Saint’s

Seeing the performance of all the four colleges together, which combination of groups has
shown the lowest level of percentage results?

(a) Zoology & Botany , - (b) Physics & Chemistry
(c) Maths & Physics (d) Chemistry & Botany
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31. Project Sagarmala is related to
(a) Building railway bridges (b) Connectivity to Port
(c) Banking network (d) Cleaning Yamuna

32.  The term Digital Single Market Strategy seen in the news refers to
(a) ASEAN (b) BRICKS
(c) EU d G20

33.  The red blood cells in a human body die after about
(a) 60 days (b) 90 days
(c) 120 days (d) 150 days

34. The cost of paving a rectangular courtyard 30 metres long and 20 metres wide with tiles 12
cm long and 10 cm wide at Rs. 40 per thousand tiles is

(a) Rs. 1,000 (b) Rs. 2,000
©  Rs. 3,000 @ Rs. 5,000

35. Find the missing number in the series:

97, 86, 73, ?, 45, 34

(a) 54 (b) 56
(e) 58 (d 60
36. In the following sequence, how many 3’s are there which are preceded by 7 but not followed
by 9?7
24739657385436735419387396452397354
(a) 1 (b)y 2
() 3 (d 4
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Directions for Questions 37 and 38 :

Each sentence is broken into four parts (a), (b), (¢) and (d). Mark the part which
has an error. Ignore errors of punctuation.

37. (a) Every man, woman (b) and child

(c) in the house on fire (d) have been saved

38. (a) The Scholarship Committee found that
(b) Neither of the two candidates
(c) Were eligible for financial assistance

(d)  Asper the conditions laid down

Directions for Questions 39 to 41 :

Pick out the most effective words to fill in the blanks to make the sentence
meaningfully complete.

39. On account of over work, he is
(a) rundown (b) runs down
(c) run out (d) run up
40. He an air of dignity.
(a) putsout (b) puts on
(c) puts off (d) puts in
41. A light breeze the forest fire and made it more dangerous.
(a) extinguished (b) it
(c) fanned (d) below
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Directions for questions 42 and 43 :

For each underlined part in the sentence, choose a word nearest in meaning :

42. He wrote a scathing review of the prize-winning novel.
(a) biased (b) scornful
(c) unbalanced (d) subjective

43. She was immaculately dressed in white.
(a) admirably — (b) beautifully
(c) wonderfully (d) spotlessly

Directions for questions 44 and 45 :

In this section, each sentence is given with an underlined word. Select the
word which is opposite in meaning to the underlined word.
44" 'The new situation has been brought about by the ineptitude of the persons concerned.

(a) efficiency (b) resourcefulness

(c) readiness (d) intervention

45.  After the match all the players felt elated.
(a) mournful (b) melancholy
(c) distressed (d) dejected

Directions for questions 46 and 47 :
Choose the Pair that expresses a relationship similar to that expressed by the
original pair.

46. INSULT : INVULNERABLE : : ? : ?
(a) Poverty : Miserably (b) Research : Difficult
(c) Assault : Impregnable (d) Success : Capable

47. DEPRESSION : UNEMPLOYMENT ::?:?
(a) Capital : Interest (b) Recession : Inefficiency
(c) Deterioration : Rust (d) Legislation : Lobbying
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48. Which of these is a correct sentence?
(a)  He is more smarter than you (b) She is more shorter than her son
(c) She is the most tallest girl in our class(d) They are as tall as their wives are
49. Which of these is a wrong sentence?
(a) I cannot understand it (b) I don’t know nothing
(c) I have no clue (d) Idonot know
50. The passive form of “Who was questioning you?” is
(a) Who was you questioned by? (b) By whom were you being questioned?
(c) By who were you questioned? (d) By whom were you questioned?
In the questions 51 and 52, the first and the last sentence of the passage are
numbered 1 and 6. The rest of the passage is split into 4 parts and named P, Q, R
and S. These four parts are not given in their proper order. Read the passage and
find out which part of the four combinations gives the correct sequence.
51. 1. I am of the opinion that

P.  aterrible mistake

Q. our Government

R. is making

S. by discontinuing the train lines
6. in Calcutta
(a) QRPS (b) PQRS
(© SQRP | d SPRQ

52. 1. When I reached my office

to get home early

P

Q. Iphoned my mother
R that I wouldn’t be able
S

. to tell her
6. as I had promised
(a) SQPR (b) RPQS
(c) PQRS (d) QSRP
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53.

54.

55.

56.

57.

In the questions 53 and 54, a word or phrase is written in italicised letters. For
each italicised part, four words/phrases are listed below each sentence. Choose
the word nearest in meaning to the italicised part.

Indian cricketers were brimming over with confidence after their English tour.
(a) overflow (b) blown over

(c) flown over (d) overspill

The new volume provides substantial critical excerpts and biographical information on
eight to ten major poets from all eras

(a) sources (b) explanations

(c) extracts ' (d) substances

The following questions 55 and 56 consist of a word or phrase which is written in
italicised letters. Each of them is followed by four words or phrases. Select the
word or the phrase which is closest to the opposite in meaning of the italicised
word or phrase.

The politicia_n was flummoxed by the questions put to him.
(a) comfortable (b) annoyed
(c) delighted (d) disconcerted

His failure in this venture may be attributed to his lackadaisical approach.
(a) enthusiastic (b) insufficient

(c) indifferent (d) reckless

Directions: Change the speech.

The tailor said to him, “Will you have the suit ready by tomorrow evening”?

(a)  The tailor asked him that he will have the suit ready by the next evening.
(b) *~ The tailor asked him that he would had the suit ready by the next evening.
(c) The tailor asked him if he would have the suit ready by the next evening.
(d)  The tailor asked him if he will like to the suit ready by the next evening.

ACO/18 12 MAY 2018
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58.  One who is indifferent to pleasure or pain.
(a) Stoic (b) Stylist
(c) Cynic (d) Psychic

59.  One who runs away from justice is called
(a) Fanatic (b) Fatalist
(c) Fastidious - (d) Fugitive

60.  Mani, along with his friends, for basketball practice every morning.
(a) were going (b) are going
()  goes (d) go

61. In the face of overwhelming mass of evidence against him, we cannot him of
the crime.
(a) punish (b) absolve
(c) release (d) ignore

62. The idiom ‘Run with the hare and hunt with the houﬂds’ means
(a) To placate both sides of a conflict or dispute

} (b) To remain unfriendly with both sides

(c) To avoid the main topic

(d) To pick up an argument

63. Choose the word which is the most opposite to ‘sluggish’.

(a) Indolent (b) Alert
(c) Lifeless (d) Slack
b ACO/18 13 MAY 2018

B




~4.. INDIAN SPACE RESEARCH ORGANISATION
zwt |isFa WRITTEN TEST FOR RECRUITMENT TO THE POST OF
ACCOUNTS OFFICER - 2018

SET
A

64.  After winning the gold medal the athlete was on cloud nine. What is the meaning of this

sentence?

(a) The athlete was in a state of shock

(b)  The athlete was in cloud nine club

(c) The athlete was boasting about himself

(d)  The athlete was in a state of perfect happiness

65. Add question tag to the sentence ‘You like him, ?
(a) isn’tit (b) isit
(c) don’'t you (d) won’t you
66. “Ab initio” means

(a)  in continuation with
(b) from the beginning
() in defence of a comment

(d) in connection with the future

617. ‘To bury the hatchet’ means
(a) To end a feud with an enemy
(b)  To cremate carcass of an animal
(c) To plant grass in the field

(d) To hide some treasure

68. The method and practice of teaching is called

(a)  Pediatrics (b) Pedagogy
(c) Training (d) Philately
ACO/18 14
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(Accounts)
69. Limited liability is a feature of
(a)  Sole Proprietorship (b) Partnership
(c) Company (d) All of the above

70. Match I and II and select the answer from options given.
I II
(A) Margin of sales 1. Efficiency
(B) Quick Ratio 2. Risk
(C) Stock Turnover Ratio 3.  Profitability
(D) Financial Leverage 4. Liquidity
Options :
(a) A-1,B-2 C-3,D4
(b) A-3, B-4,C-2,D-1
(¢ A-3,B-1,C-2,D4
(d A-3, B-4,C-1,D-2
71.  Who decides rates for levy of GST?
(a CBEC () CBDT
(o) Finance Ministry (d) GST Council
72.  MCLR with reference to Bank interest rate stands for
(a) Marginal Cost Lending Rate
(b)  Marginal Cost of funds-based lending rate
(c) Market Cost based lending rate
(d) Moving average cost lending rate
3. Who is the regulator of National Pension System?
(a) SEBI (b) PFRDA
(c) IRDA (d) RBI
ACO/18 15
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74.

75.

76.

7%
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Revenues received by the government and expenses made by the government, excluding the
exceptional items, are part of the

(a)
(b)
(c)
(d)

Contingency Fund of India
Public Account of India
Consolidated Fund of India

Government of India Fund

Match the following :

I II
(A) Human Relations Theory 1.  Peter Drucker
(B) Scientific Management 2. Henry Fayol
(C) Principles of Management 3. FW Taylor
(D) Management by Objectives 4. Elton Mayo
Options :
(a) A-4, B-2,C-3, D-1
(b) A-2, B4, C-1,D-3
(¢) A-3,B-4,C-1,D-2
(d A-4, B-3, C-2,D-1

Which of the following is not a capital budgeting decision?

(a)
(b)
(©
(d)

Expansion Programme
Merger
Replacement of an Asset

Inventory Level

The term EOQ is related to

(@)
(b)
(©)
(d)

18

Inventory Management
Ratio Analysis
A technique in management of human resource

Trade Discount

16
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78. A has been admitted as new partner for one-fourth share of future profits and fails to bring
in cash of Rs. 10,000 towards good will. The old partners B & C, sharing profits in the ratio

of 3:2 raised the goodwill account to its full value. The partners will get the credit for

goodwill as

(a)  A- Rs. 10,000, B-Rs. 10,000, C-Rs. 10,000
(b)  A-NIL, B-Rs. 24,000, C-Rs. 16,000

(¢)  A-Rs. 10,000, B-Rs. 18,000, C-Rs. 12,000
(d  A-Rs. 10,000, B-Rs. 15,000, C-Rs. 15,000

79.  Amortisation is a proportionate cost written off over a period of time for a/an

asset.

(a)
(c)

Tangible asset (b) Intangible asset
Long term asset (d) Lost asset

80. A machine was purchased on 01.04.2016 for Rs. 10,00,000. If the life of the machine is

9 years, depreciation provided in Straight line method and scrap value after 10 years is

Rs. 1,00,000, then find the rate of depreciation and depreciation provided every year.

(a)
(©

10% and Rs. 1,00,000 (b) 9% and Rs. 90,000
11% and Rs. 1,10,000 (d) 9.33% and Rs. 1,23,333

81. Who of the following is a member of BRICS countries?

(a)
(@)

Singapore (b) Srilanka
South Korea (d) South Africa

82. A contract which gives the holders a right to buy a particular asset at a particular rate on or

before a specified date is known as

(a)
(©

ACO/18

European Option (b) Straddle
American Option (d) Strangle
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83. refers to a market situation where there are a few products selling either
homogeneous products or differentiated products?

(a)  Monopoly (b) Oligopoly
(c) Duo poly (d) None of the above
84. If the economy goes into a recession, automatic stabilizers will do the following except

(a) Increase income tax revenues
(b) Increase the budget deficit
() Increase unemployment insurance

(d) Increase welfare payments

85. When an independent auditor decides that the work performed by internal auditors may
have bearing on the nature, timing and extent of planned audit procedures, the independent
auditor should evaluate objectivity of the internal auditor. The most important factor
influencing it would be

(a) organizational level to which he reports
(b) qualification of internal auditor

(c) system of quality control of his work
(d)  all of the above

86.  Where is the headquarters of SWIFT?

(a) Hong Kong (b) Brussels
(c) London (d) Mumbai
87. “It is not the seller’s duty to point out defects of his own goods”. This concept is also known
as
(a) Unfair Trade Practices (b) Caveat Emptor
(©) Buyer Duty (d) Buyer Kingdom

ACO/18 18 MAY 2018



-4._ INDIAN SPACE RESEARCH ORGANISATION SET

o9 |i5Fa WRITTEN TEST FOR RECRUITMENT TO THE POST OF A
ACCOUNTS OFFICER - 2018

88. In price discrimination, which section of the market is charged the higher price?
(a) The section with the richest people
(b)  The section with the oldest people
(c) The section with the most inelastic demand
(d)  The section with the most elastic demand

89. Government imposes taxes to
(a) Check the accumulation of wealth among the rich
(b)  Run the machinery of state
(c) Uplift weaker sections
(d)  None of these

90.  ‘Electricity charges’ budgeted under semi-variable overhead at 60% capacity is Rs. 30,000 of
which 40% is fixed. Ascertain the amount of electricity charges to be budgeted at 70%
capacity?
(a) 21,000 (b) 33,000
(c) 18,000 (d 12,000

91. What types of contracts are used in specific types of International Commercial transactions
such as trade in commodities or capital goods?
(a) Commercial Contracts
(b) Transactional Contracts
(c) Standard Contracts
(d) International Standard Contracts

92.  Which one of the following is an intangible asset?

(a)  Furniture (b) Patent right

(c) Investment in shares (d) Loose tools
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93. Revaluation method of depreciation is generally used in the case of
(a) Plant (b) Land and Building
(c) Stock (d) Loose tools

94. Obsolescence means decline in the value due to

(a) Fall in the market price
(b)  Physical wear and tear
(c) Innovations and inventions

(d) Efflux of time

95. Solvency ratio is computed by

@) Total Liabilities ®) Profit
Total Assets Sales
Sales Debt
d
© Capital @ Sales

96. The takeover of a company in which most of the purchase price is paid with borrowed money

is referred to as?

(a) Hostile takeover (b) Illegal takeover

(c) Leverage buy out (d) Management buy out
97. Skimming price for a new product is

(a) Low initial price (b) Average price

(c) High initial price (d) Moderate price

98. Capital budgeting decisions are generally

(a) Irreversible (b) Reversible
(c) Irrevocable (d) Revocable
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When budgeting is done based on the justification of all the activities to be undertaken
instead of relying on past data, it is known as?

(a)  Performance budgeting
(b) PERT technique

(c) Zero base budgeting

(d)  Accountability budgeting

French phrase Esprit de corps implies?

(a) Proper reconciliation between the individual and common interests
(b)  Justice and kindness with employees

(c) Spirit of co-operation in the organisation

(d)  The arrangement of things and the placement of people

The Petro is new cryptocurrency launched by
(a) Saudi Arabia (b) Iraq
(c) Nigeria (d) Venezuela

Which was the first country in the world to introduce Goods and Service Tax (GST)?
(a) France ‘ (b) Italy
0 UK (d) Japan

The financial year for bank is April-March but what is the financial year for RBI?
(a) January-December (b) April-March
(c) Oc_tober-September (d) July-June

DU PONT Analysis deals with
(a)  Analysis of Current Assets
(b)  Analysis of Profit

(c) Capital Budgeting

(d)  Analysis of Fixed Assets
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PART -D
(Descriptive Type)

[TO BE ANSWERED IN ENGLISH ONLY]

L. Write an essay on ANY ONE of the topics, not exceeding 800 words. (1 x 10 = 10 marks)
1. ISRO’s forthcoming Mission to the Moon
2. De-forestation and its consequences
3. Right to Die
4.  Khelo India
II.  Write a letter on ANY ONE of the topics. (1 x 10 = 10 marks)
1.  Write a letter to the Head of your organisation requesting him to increase security of
women employees in your company.
Or
2.  Write a letter to the MP of your constituency to develop a community activity centre
particularly addressing the needs of Children and senior citizens, using MPLAD scheme.
Or
3. Write a letter to City Police Commissioner requesting him/her to curb the menace of

ACO/18

illegal activities like selling of narcotic substances, alcohol etc in the vicinity of
your college.
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